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Problem quickname: 1825

L) Quick:

1825
There is a binomic formula hidden in this term. Convert the binomic term to the

product form. You may have to extract summands or factors.

a) 23 — 2622 —|—169:Jc—(a: —2633+169)x—(:1:—13)2:1:

b) 22 —10x+20—(:c —10x+25)—5—(5—x) -5

) 10a —240a+1440_10(a —24a—|—144)—10(a—12)

d) a 2a2b+a62 (a2 = 2ab+b¥)a = (a — b)*a

)fc +ay +y° = (22 +2xy+y)—y:r—<x+y) — Yz

) a3 — 2a%b + ab® = ( 2ab+b%::a@ a)?

g)% —2zy +y* = (a? 2ny+y)+l‘ = (y—a)* +a?
h)a —10a 4 100 = 10a + (a? —20a+100)_10a+(10—a)2
1)a +21a+49—(a + 14a +49) + Ta = (T +a)* + Ta

i) a® —ab—b* = (a®> = b*) —ba = (a + b)(a — b) — ba

2)

@

—

Quick:
1825
There is a binomic formula hidden in this term. Convert the binomic term to the

product form.

a) a2 — ab+b% = (a? — 2ab + b)) + ab = (b—a)* + ab
b) a2 —12a + 144 = 12a—|— (a® — 24a + 144) = 12a—|—(12—a)2

¢) 2a% — 2ab + b? = (a% — 2ab + b?) 4+ a% = (a — b)* + a2
d)a? = +8 =8+ (a®> —v?) =8+ (a+b)(a—b)

e)2a2——12a%—36——(a ——12a%—36)+—a — (6 — a)? + a?
f) y> —a? =10 = (y* —2%) — 10 = (y +2)(y —a) — 10
g)a2—2ab+b2 6—6+(a —2ab + b)) =6+ (a — b)*
h)w —ay—y*=(2* — ) —yr = (z +y)(z —y) —yx

i) a3 — 14a? +49a = a(a —14a+49)—a(7—a)2
D=y +9=0@" -y ) +9=(z+y)(r—y)+9

3) .
—Z Quick:
1825
There is a binomic formula hidden in this term. Convert the binomic term to the

product form. You may have to extract factors.

a) a® — 2a%b + ab® = (a® — 2ab + b*)a = (a — b)*a
b) a3 + 3442 + 289a = (a2 + 34a + 289)a = (17 + a)*a
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Solutions to smp-1825-1/FREY

c) a® — 30a + 2250 = a(a® — 30a 4 225) = a(15 — a)*
d) 933 - :vy = (2% - yz)x = (z+y)(z —y)w

e) x —2xy+xy (2 2:(;y+y)x—(y—x)2x
£) a3 + 2842 + 1964 = (a2 4 28a 4+ 196)a = (a + 14)%a

g) a® — 6a% 4 9a = (a® — 6a + 9)a = (a — 3)%a

h) a® + 3002 4 225a = a(a® 4 30a + 225) = a(a + 15)*
i) a® — ab® = (a® — b*)a = (a + b)(a — b)a

j) a3 — 324z = (22 — 324)z = (z + 18)(z — 18)x

4) .
—Z Quick:
1825
There is a binomic formula hidden in this term. Convert the binomic term to the

product form. You may have to extract summands.

a) 2> —y? +6=06+ (2" —y*) =6+ (v +y)(z — y)

b)a; — 34z + 296 = (22 —34a:+289)+7—(:1:—17)2+7
¢) a? — 24a + 147 = (a? — 24a + 144) + 3 = (a — 12)* + 3
d)a2+2ab+b2+7—(a +2ab+ b2 +7=(a+Db)>+7
e) a2 — 2ab+ b% + 8 = (a® — 2ab+ b?) + 8 = (a — b)* + 8
Ya2 =20y + 2+ T =T+ (22 — 2wy +2) =7+ (z — y)°
g) a® — 2ab + b% + 7—7+(a2—2ab+62):7+(b—a)2
h)a2—2ab+b2+8—( —2ab+b?) +8 = (b—a)* +38
1)a2—253—(a —256)+3—(a+16)(a—16)+3

D2 —a?+9=9+1?—0a®) =9+ (b+a)(b—a)

Good Luck!
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